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17 31
182,287,522 270,877,230
54,268,144 72,442,825
78,820,066 8,000
4,976,236 18,529,239
3,603,784 10,814,023
15,020,026 505,242
1,709,100 31,781,286
2,022,221 46,610,074
7,207,881 19,364,228
2,027,346 70,373,814
8,412,070 448,496
4,343,643 52,155,296
123,000 40,656
207,745,023 7,029,977
34,239,318 11,587,068
12,655,211 22,958,681
3,152,250 871,700
18,331,493 395,700
100,363 2,945,000
18,153,784 6,326,512
197,269 323,032,526

17,956,515

155,351,920 2,304,000
70,628,338 64,908,372
31,412,459 495,640
12,959,407 63,235,455
17,699,791 1,166,241
250,903 25,659
17,474,650 143,554
3,124,866 61,900,000
2,936,838 1,177,276
1,135,335 212,352
67,000,019
390,032,546 390,032,546
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16
17 31
185,744,141
177,266,604
8,477,536
11,937,878
2,688,108
876,203 15,502,190
239,978
1,707,473
80,114 2,027,566
21,952,161
2,572,033
3,761,758
146,239
3,054,170
735,976
292,188 10,562,366
193,430
692,195
823,894
70,000
65,655
450,000
25,254,686
9,322,637
863,357 37,735,857
5,221,330
1,940,757
3,833,472 5,774,230
552,900
624,376
1,177,276
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43

6 15 10 31
9,322,637
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34,238,751 11,345,230
16,414,061 729,537
40,173,761
775,082
1,436,706
24,814,877
51,820,485
9,011,727
8,211,455
1,111,182
2006 7 1
2,343,163
358,023
119 98



